- 58 .

RL

210031
RC.RL t
RC RL
RL , ) .
RL
i (D) ~il 0+ 21
RL.RC : , (PO +20,, .
) ) o Multisim 1
Uf:1509n(5007rt—g) R=500, L=2H,
,‘) I =47.7mA Multisim  Oscilloscope 2
RL Multisim
T
t=3 , 1056mA |
22
3.2
RL )
wir=15 0 _m g1, sinHL)e‘i' Ll St +6, Xt >0)
© a 2
1 RL t=0 , 5:*5 =1y t—oo,
t=0 J1, U(t)=U, sin(ut +6) Uy, = wliy, () _2R 2R R>>X, b (O > 11,
LO®) o, _ o b X
—L22 LRI () = 124 Rith — 1, sintt + 8 (1 0)
a T © 33
(0= Ae T + I, sinfw +8,) g, = m '
wl RL
9ﬁ:9—arctg(?) A 5 t=0 .
Iy RL 3 U,:lSOs'n(SOOrrt—%) R—500 L2
iL(t)_:(IoflesjnoL)eff'JrILmsin(throL) o YB4328 25MHz
LM 0=, r )
4 464mA  1=% ,
° 116.1mA 2.502
2 RL
<l = Un Y | G N DI Lo [
SN . Hememms B maa o
s+ 3
lo Un  JR+ (L) - 5
smgﬁ}]fﬂ:]nw C B SRR IS SRR
— im - D D - -1 1N
9:9L+arctgw—L:arcsinM+arcmw—L . 4 B
] . GLZO 6L=7r 3
6: i 9: Ct L "-------: --------------------------------------------------------------------
arctg R arctg R + |
‘RL AN S 7 N B S e
W R LU, , e
0 4 YB4328
3 4
l,—1,,sn6, =0 RL ,RL )
) , 0 , 0
t=0 , ,
3.1 0 '
, 1 t=0 J1,
7r 7T wlb
0, =—— |, 9= ——+arctg—(t>0)
’ 2 2 R, [1] ) RL 1.
t 270 et~ 2000.

1995 10- ,

s



